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Trigonometric Identities 

θ

1 4

b

Example 3 Using a right triangle

i.  Find the missing side of the right triangle that has the 
given sine ratio.

ii.  Find the cosine ratio.

Cosine Ratio

b is the adjacent side and 4 is the hypotenuse.

Substitute √15 for b.

Example 4 Using a right triangle
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b = √15(Example 3)
Tangent Ratio

1 is the opposite side and √15 is the adjacent side.

Rationalize the denominator.
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Example 2 Use Trigonometric Identities

Substute  for sin and  for cos.

Mulply by the reciprocal of the denominator.

Simplify and raonalize the denominator.

5. 6.

7.
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